
Time: 10 Minutes Paper Math 4 Total Marks: 10

5th  Month,  1st Week, 2nd Day Syllabus: Unit 5: Exercise − 2 Q No. 1, 2, 3

Q.No.1 Encircle the correct answer from the following choices. (5)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. 22 km + 33 km = _________.

(a) 55 km (b) 60 km (c) 65 km (d) 75 km

ii. 71 cm 2 mm + 11 cm 6 mm = _______.

(a) 82 cm 8 mm (b) 83 cm 2 mm (c) 84 cm 8 mm (d) None Ãð7

iii. 99 km – 74 km = _________.

(a) 15 km (b) 25 km (c) 35 km (d) 45 km

iv. 74 km 122 m – 13 m = _______.

(a) 74km 107 km (b) 74km  109m (c) 74km 102 m (d) 74km 105 m

v. 52 km 48m – 6km 22m =_______.

(a) 46km 26m (b) 46km 25m (c) 46km 23m (d) 46km 20m

Q.No.1.   Solve the given units of length: (2)

ŠŠŠŠbbbb‰‰‰‰MMMMðððð----ŠŠŠŠVVVVÃÃÃÃiiii™™™™,,,,:::: ::::1 ÎÎÎÎZZZZwwww����

35cm   5mm  – 25 cm  1mm

Q.No.2.  Tahir has two pieces of rope. The length of one piece is 38m 87 cm

and length of other is 61m 12cm. What will be the total length? (3)

vvvv¢¢¢¢aaaaŠŠŠŠzzzzuuuu}}}}••••}}}}ÅÅÅÅ 87¢¢¢¢aaaa38 ¤¤¤¤CCCCÙÙÙÙÆÆÆÆ0000****kkkkggggÏÏÏÏÆÆÆÆŠŠŠŠzzzz••••}}}}÷÷÷÷XXXXZZZZqqqq----••••}}}}ÅÅÅÅMMMMðððð  ::::1 ÎÎÎÎZZZZwwww����
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